H & 0l & AHS B Ml A

0258 =0ila LEta| | EEH
SN
Mu: Eop FOIME BOIEA
Rl AIZEN d3E 29 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
el 1,627,336 1,402,925 224,411
S FpME HoSH 847,208 560,378 286,830
ANEIEN S8 2 597,208 510,378 86,830
Fody X2 398,310 311,806 86,504
202 044l 1,260 1,55 VAVASS
01 =LHOLI 1,260 1,556 N29%6
O&= XXMl &IXI0H
60,0003 52 *32 900
O3S =22&34 60,0003 x2& *32 360
301 LENZ 397,050 310,250 86,800
o7 & - 01 - HEES24= 380,210 293,410 86,800
ool JiE=¢ 400,000 x62H * 12& 297,600
OO0l &= 400, 0003 x62E x22 49,600
00l 5lo| &xag
20,0003 »62H « 122 23] 29,760
Oery &=l 25,0002 65 H +23] 3,250
11 EAAHIXIRS 1,960 1,960 0
OAZ 1=, HOIL S BAT 24
10,0002 622 *22 1,240
OAZER SA S EATF 24
10,0002 x36 & *22 720
14 DBt 2 a3 14,880 14,880 0
O01% Sald| 20,0003 »62H « 128 14,880
XS SSHA (FRIE 0 0IAL) 140,000 140,000 0
201 L= 61,500 58,500 3,000
01 AFR2t2ltl 13,500 21,500 28,000
O3AH UIsAHEY 28 g4 & A=d A
= 4,000,000& 13! 4,000
OFAYE OIsH=Y 2 22 A
500,000& *42] 2,000
OZg NHAHUM =Xt MY 2EES 7
500,000 #52 2,500
OB AW HE(ZLLR) 2SYSE 79
300,000 *10=] 3,000
OFCTAEZZIY 20 HE A25
2 200,000& *10=! 2,000
03 A=Y 48,000 37,000 11,000
OZIEA S(HAE 23019 #A
6,000,000 12/ 6,000
OsUHBE =0tE &8 2| A}
2,000,000& %12 2,000
Ool=0H| Mz & M A
24,000,000 12 24,000
Ost HEZ2 &8 42
7,000,000 18] 7,000




of
i’
oF
uJ

818 S(° 8 818 el el
s|s S S Stk
- Al | » D N A
nd - | ISR RS
z_uﬁ_v NI RY
4
E=]
8|8 318 8 88 81818
s|8 5|8 S s|8 s|s|s
@ & I K1 R SV KNI KV
ug
1<
RIS
81818 S8 888 S 8 8 8 88 8 8 8 8 glglsg 8 8 8 8888 S
O |1OoO|O o O | |wv o Yo} (@) o o O (@) o o (@) O |Oo|Oo O (@) o o OO |O|O o
Sléls © Slx|e = S - g o o K @& Jdlglg e S © © ~|d|ld|ad
al
<
S
o oo o @ o o m W oW W W E = 4 = 04 o
~ T o ¢ g g d 5 ¥ & & 5 s = B8 = B
ol IR B8 8 o 8 5% W oW x2S o X% 50
N 1 - W W o IR
or | 8 g 8 Hg 8 8.8 8 n88wg w e Bzg -8 3
v [ g s s R L% g FREE g Vg e %8 4 5 85288 .
Y S = g g 8 Mommg - o U =8 Wom Mm g m,z__m =) o S
2 3l e N NS S e N 2 m o oo R N o8
o > Wy =" & W e ow Lo B My <
It ol g = X =z @ - W oy = 0T W ~
= | + H S o Ko 5 = = 5 & = — A o W m H
R R oW = oW BBy By S UN U o
o 7l o ’l® S T T How 5 = Uy
= |& w5 N S 5 RO oW w_ M = d 0
w2 o w Moo 3 w MD o[ B | 8 U 3z I 0
= |= B W M= = » w R = T W oy s [Z| swm R & = LI
o | E I B O L I S S I 0 P L
o) |&o ok S |HBEs5 3 K = R Nz 3y H. - K [ KEX Y = o0 oy [0S
A k| D e D o X & gm0 K ok RO R RIID ©
= sz u o |Hlamw = ow 3 Hoa o R W s s Wk 3 WE Sw g K
i H Wi © 0 = a0 S <+ H o < 000 o< ol IS wlw S o 0 Mk s |= |2z o
Rl [l = |Glmeoo®m 0 B 0 ~ &  HWF W R U (= = BT = s WE|S|a|@ &
: O g5 o O -0 O O O O < O O O O O = OO O O O |Jal|l=l= 0O
3 Qe S| A Qe = S|
Ik Ki




SN
Mu: Eop FOIME BOIEA
Rl AIZEN d3E 29 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
XX & dEY 23 56,898 56,572 326
201 L2 | 31,800 31,800
01 Ar22eltl 31,800 31,800
O=FCUXXIAH 3oL
50,0002 x50 122 30,000
O=FQURXIME Let=2H|
80,0003 *10& 800
OATE FUU=SFAAY MRS =Y
100,000& %10 1,000
301 LPENS 25,098 24,772 326
11 AU S 2,000 2,000 0
OZVXXILES S LT A8t
40,0003 *50H 2,000
14 JIEt2 43 23,098 22,772 326
F0IXXI2l RHRAS AR A8l XIZ
11,0003 x2Z 10+ 123 2,640
OF2UNXs 72 ARE =2 X2
10,030 & *8A| 2++x202 * 123 19,258
OF0UIXEH T2 29
100,000 128 1,200
MDA 250,000 50,000 200,000
MESTH SHAAMS 250,000 50,000 200,000
401 A& HIZLS0HY| 250,000 50,000 200,000
01 Al&HI 250,000 50,000 200,000
OgxH =UEH 218 QIRdHA
10,000,000 52| 50,000
Ogarel Hozoim MEE XBY M3
19,000,000 171 2 19,000
Og2H 0/0I0t2 &2 LS A
5,000,000 *1JH 2 5,000
O SIS TREST A
5,000,000& *17H 2 5,000
OgaH T=0t= otd HEZAL
19,000,000 171 2 19,000
OZEsH IHE0IS A EEIAL
19,000,000 * 10 2 19,000
O AE0IS TREST B2
AL 19,000,000 * 10 2~ 19,000
OgaH EF0t= =2 ZHIZA
19,000,000 171 2 19,000
OEsH =H0E =2 2xE2H ZE3BAL
19,000,000 x 10 2 19,000
OgaH S)|0t2 s=HUISAt
15,000,000 * 10 2~ 15,000
OgaH MElts HZ AL
5,000,000 *1JH 2 5,000




SN
Mu: Eopl FOIME BOIEA
Rl A=A (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OgaH stMitE =2 EdIANY
15,000,000 171 2 15,000
OgzH Asits ot =2 ZHIZA
14,000,000 * 10 2 14,000
OogxH 2ES0tE MAZ A SA
17,000,000 x 10 2 17,000
OgxH 22 0ts ot tH=EHISAt
10,000,000 171 2 10,000
HaH IR =E 613,511 673,511 260,000
=) d Y O 613,511 673,511 260,000
s S A2 A (FLIE oA 613,511 673,511 260,000
401 AIEHIZL20HbI 613,511 673,511 260,000
01 Al&HI 613,511 673,511 260,000
OZA0IE =2 HESA
17,000,000 3 14! 17,000
O=20t0t= 312t ZHISA
17,000,000 & * 14! 17,000
OUSOIE o2 THBA
17,000,000 & 14! 17,000
OsU0tS ot ZESA
17,000,000 14! 17,000
O3&0ts ot ST SA
17,000,000& * 14! 17,000
OXIEDE 3|2 |22 SA
17,000,000 & * 14! 17,000
OStEOIE ot =2 FUISAL
17,000,000 14! 17,000
O==0ts otZ ZHISA
17,000,000& * 14! 17,000
OUicAltS ot ZESAH
17,000,000 & * 14! 17,000
ONgite s& ELEIA
17,000,000 14! 17,000
O=80ts <22 =3IAMd
16,000,000& * 14! 16,000
OXEOlE o2 TEBA
16,000,000 & * 14! 16,000
ORJI0tE 2 EXISAM
16,000,000 14! 16,000
Oshetits 329 ot=E SHSA
16,000,000 14| 16,000
O3S0i2 ot OIAETMN LI BAL
16,000,000 & * 1A 16,000
OGlttHOtE =2 EHIZSA
16,000,000 14! 16,000
FEOIE &EH ZESAH
16,000,000 14| 16,000




SN Z
M 20 Se)|UnS
TPl SQIIUEA U W CCRE)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
O=gitz s2 Z&E3AM
16,000,000 14! 16,000
Ozts0ts otd OtAE ZEHIAL
16,000,000 14| 16,000
O=2=20t= =2 ZHISA
16,000,000 & * 14! 16,000
OTENIS =2 EXISAM
15,000,000 14! 15,000
OZF0s s2 ZESAM
15,000,000 14| 15,000
Os&0tE Z2Y ZHISA
15,000,000 & * 1A 15,000
OFS0IS 01252 212YY BAF
15,000,000 & 14! 15,000
OZ=0ts otd ZEBA
15,000,000 14 15,000
OBH20IS 22 JUIBAH
15,000,000 & * 14! 15,000
OZ00tS 328 HOAE EXIZA
15,000,000 & 14! 15,000
OUSOIZ 242 FHIBA
15,000,000 14| 15,000
OLNEOtE 22 DAY &X
15,000,000 & * 1A 15,000
Olis0ts o2 ZHIA}
15,000,000 & 14! 15,000
Odl&0ts otd S IAL
13,400,000 14 13,400
OdlE0ts ot g S JHISA
13,400,000 & * 1A 13,400
OEF0t= =2 EHISA
13,400,000 & 14! 13,400
Os=30t2 o= Fdl
13,400,000 14 13,400
O&210t2 7 ZHISAM
13,400,000 & * 1A 13,400
ONXIOIS LB ST TMBA
13,400,000 & 14! 13,400
O=80ts otd ST SA
13,400,000 14 13,400
Oatatitg ot JIEY EXIBAL
13,400,000 & * 14! 13,400
OAsits EX B3 At
13,200,000 & 14! 13,200
Oltslts s& HESA
13,111,000 & 14 13,111
HY2IZH(EHEH) 166,617 169,036 A2,419
ol 2 | 70,294 66,557 3,737
oI 2 | 70,294 66,557 3,737




2N
Hu: sEeHA| (L)
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
101 e124d| 70,294 66,557 3,737
01 &4 70,294 66,557 3,737
OARII2R4Y
11,9502 x 152 +30AI 2+ 123 64,530
OARIAZ R4 (MEHI Y
96,0593 18 +602 5,764
=&l 96,323 102,479 26,156
Jl=&H| 96,323 102,479 26,156
201 L2 41,103 47,219 NG, 116
01 A2t 19,513 23,230 N3, 717
OYPEE =204
9,000&*16F 3L« 122 5,184
OEEE &= N& 100,000 %02 900
OAYOIHBIX 2EDRY)
250,000& x2 & *22] 1,000
OARES ¢ 300,000 122 3,600
OsAEX #dI(M)
24,0003 +102t A+ 123 2,880
OExES 78| 349,000 %12 349
O=AD EH 2|
300,000& »2LH*62] 3,600
OMIIUNEH ===
100,000 * 122 1,200
OA2gUNEH =2
400,000 22 800
02 S3=2g4l 21,590 23,989 A2,39
O&IINEZ 900,000 *12& 10,800
O&ol=E AIEZ 98,000& x 128 1,176
ORERz(HE SI1)
200,000& =128 2,400
O3 U SRS 120,002+ 122 1,440
ORERE 2HRTH|
200,000& *22 400
Osloja s8FY| <2l
214,000& %12 214
OFEA A1E 4| 600,000 #52 3,000
O2Sie A=l 180,000 «12& 2,160
202 044l 43,200 43,200
02 A0 43,200 43,200
OZ A0l 225,000& x16Z 123 43,200
203 gR=8| 12,020 12,060 A0
01 D[22 HRF2a| 7,700 7,700 0
oggsHd 7,700,000 14 7,700
02 SR IRHH 2= 720 760 A0
OEAINIHRFEH 720,000 *14] 720




of
i’
oF
uJ

-

KIO

Hlw

HMEE
Ofl &k2h

3,600

ol vy

3,600

3,600

- ESS

- SRA(3) - HIRAEY

S LRE-L

0K

0H

300,000& =128




